

International Journal of Graph Theory and its Applications Volume 1 Issue 1 (2015) Pages 57–66 © 2015 Mili Publications



On the ABC index of cacti

Jianping Li^a

Faculty of Applied Mathematics, Guangdong University of Technology, Guangzhou 510090, P.R. China email: lijp06@gdut.edu.cn

Received 15 February 2014; Revised 18 April 2014; Published online 16 June 2015 Corresponding editor: Yongtang Shi

Abstract The atom-bond connectivity (ABC) index is a recently introduced topological index defined as $ABC(G) = \sum_{uv \in E(G)} \sqrt{\frac{d_u + d_v - 2}{d_u d_v}}$, where d_u and d_v are the degrees of the vertices u and v in the graph G. We determine the unique cactus with maximum ABC index among cacti with *n* vertices, and the unique cacti with maximum ABC index among cacti with n vertices and r cycles and among cacti with *n* vertices and *k* pendent vertices, respectively, where $0 \le r \le \lfloor \frac{n-1}{2} \rfloor$ and $0 \le k \le n-1$.

Keywords Atom-bond connectivity index; cacti AMS subject classifications 05C18; 05C35; 05C50

1 Introduction

Let G be a simple graph with vertex set V(G) and edge set E(G). For $u \in V(G)$, N(u)denotes the set of neighbors of u in G, and the degree of u is $d_u = |N(u)|$. The atom-bond connectivity (ABC) index of G is defined as [3]

$$ABC(G) = \sum_{uv \in E(G)} \sqrt{\frac{d_u + d_v - 2}{d_u d_v}}.$$

^aResearch supported by NSFC (No.11001089)

The ABC index displays an excellent correlation with the heat of information of alkanes [3, 2]. Furtula et al. [4] determined the minimum and maximum values of the ABC index for molecular trees (trees with maximum degree at most four) and showed that the star is the unique tree with the maximum ABC index when the number of vertices is given. Many other results of ABC index have been established [6, 7, 1].

A cactus is a connected graph in which any two cycles have at most one vertex in common. Lu et al. [5] determined the unique cactus with minimum Randić index among cacti with *n* vertices and *r* cycles. In this paper, we determine the unique cactus with maximum ABC index among cacti with *n* vertices, and the unique cacti with maximum ABC index among cacti with *n* vertices and *r* cycles and among cacti with *n* vertices and *k* pendent vertices, respectively, where $0 \le r \le \lfloor \frac{n-1}{2} \rfloor$ and $0 \le k \le n-1$.

2 The maximum ABC index of cacti with *n* vertices

For $0 \le r \le \lfloor \frac{n-1}{2} \rfloor$, let $\mathbb{C}(n,r)$ be the set of cacti with *n* vertices and *r* cycles, and $C^0(n,r)$ the cactus obtained from *r* triangles with a common vertex by attaching n - 2r - 1 pendent vertices to the common vertex. Note that $\mathbb{C}(n,0)$ and $\mathbb{C}(n,1)$ are trees and unicyclic graphs, respectively.

Lemma 1 [4] Let $G \in \mathbb{C}(n,0)$, $n \ge 2$, then

$$ABC(G) \le \sqrt{(n-1)(n-2)}$$

with equality if and only if $G \cong C^0(n, 0)$.

Lemma 2[6] Let $G \in \mathbb{C}(n, 1)$, $n \ge 3$, then

$$ABC(G) \le (n-3)\sqrt{\frac{n-2}{n-1}} + \frac{3}{\sqrt{2}}$$

with equality if and only if $G \cong C^0(n, 1)$.

Lemma 3[7] Let $f(x,y) = \sqrt{\frac{x+y-2}{xy}} = \sqrt{\frac{1}{x} + \frac{1}{y} - \frac{2}{xy}}$, where $x, y \ge 1$. If $y \ge 2$ is fixed, then f(x,y) is decreasing for x.

The following lemma is obvious.

Lemma 4 Let x be a positive integer. Denote $f(x) = \sqrt{\frac{x-1}{x}}$. Then f(x) is increasing in x.

Note that for a vertex v of a simple graph G on n vertices, $\sqrt{\frac{d_v-1}{d_v}} \le \sqrt{\frac{n-2}{n-1}}$ with equality if and only if $d_v = n-1$. This fact will be used in our proof.

Let

$$g(n,r) = \frac{3r}{\sqrt{2}} + (n-2r-1)\sqrt{\frac{n-2}{n-1}}$$

Theorem 1 Let $G \in \mathbb{C}(n, r)$, where $0 \le r \le \lfloor \frac{n-1}{2} \rfloor$. Then

$$ABC(G) \le g(n,r)$$

with equality if and only if $G \cong C^0(n, r)$.

Proof. We will prove the result by induction on *n* and *r*. If r = 0, 1, then the theorem is true by Lemma 1 and Lemma 2. Suppose that $r \ge 2$ and then $n \ge 5$. If n = 5, then the theorem holds trivially as there is only one graph in $\mathbb{C}(5,2)$.

Suppose that $n \ge 6$, $r \ge 2$. Let $G \in \mathbb{C}(n, r)$ and $\delta(G)$ be the minimum degree of G. By the definition of a cactus, $\delta(G) = 1$ or 2.

Case 1. $\delta(G) = 1$. Let $xy \in E(G)$ with $d_y = 1$. Let $N(x) \setminus \{y\} = \{x_1, x_2, \dots, x_{d-1}\}$, where $d = d_x$. Obviously, $d \ge 2$. Suppose without loss of generality that $d_{x_1} = d_{x_2} = \dots = d_{x_{p-1}} = 1$ and $d_{x_i} \ge 2$ for $p \le i \le d-1$, where $p \ge 1$. Set $G' = G - y - x_1 - x_2 - \dots - x_{p-1}$ (if p = 1, then G' = G - y). Obviously, $G' \in \mathbb{C}(n-p,r)$. Denote $d_{x_i} = d_i$ for $p \le i \le d-1$. By the induction assumption,

$$ABC(G') \le g(n-p,r)$$

with equality if and only if $G' \cong C^0(n-p,r)$. Now by Lemma 3 and Lemma 4, we have

$$\begin{split} ABC(G) &= ABC(G') + p\sqrt{\frac{d-1}{d}} + \sum_{i=p}^{d-1} \left(\sqrt{\frac{d+d_i-2}{dd_i}} - \sqrt{\frac{(d-p)+d_i-2}{(d-p)d_i}}\right) \\ &\leq g(n-p,r) + p\sqrt{\frac{d-1}{d}} \\ &\leq g(n,r) + (n-p-2r-1)\sqrt{\frac{n-p-2}{n-p-1}} - (n-2r-1)\sqrt{\frac{n-2}{n-1}} + p\sqrt{\frac{n-2}{n-1}} \\ &= g(n,r) + (n-p-2r-1)\left(\sqrt{\frac{n-p-2}{n-p-1}} - \sqrt{\frac{n-2}{n-1}}\right) \\ &\leq g(n,r), \end{split}$$

with equalities if and only if $G' \cong C^0(n-p,r)$, d = n-1, and 2r = n-p-1, i.e., $G \cong C^0(n,r)$.

Case 2. $\delta(G) = 2$. Then there exists an edge $vw \in E(G)$ such that $d_v = d_w = 2$. Let u be

the neighbor of *v* different from *w*.

Subcase 2.1. $uw \notin E(G)$. Let G' = G - v + uw. Obviously, $G' \in \mathbb{C}(n-1,r)$. By the induction assumption, $ABC(G') \leq g(n-1,r)$. Then

$$\begin{split} ABC(G) &= ABC(G') + \frac{1}{\sqrt{2}} \le g(n-1,r) + \frac{1}{\sqrt{2}} \\ &= g(n,r) + (n-2r-1) \left(\sqrt{\frac{n-3}{n-2}} - \sqrt{\frac{n-2}{n-1}} \right) + \frac{1}{\sqrt{2}} - \sqrt{\frac{n-3}{n-2}} \\ &< g(n,r). \end{split}$$

Subcase 2.2. $uw \in E(G)$. Denote $d_u = k$, then $k \ge 3$; Otherwise *G* is not connected. Let G' = G - v - w. Obviously, $G' \in \mathbb{C}(n-2, r-1)$. Denote $N(u) \setminus \{v, w\} = \{u_1, u_2, \dots, u_{k-2}\}$ and $d_{u_i} = k_i$ for $1 \le i \le k-2$. By the induction assumption,

$$ABC(G') \le g(n-2, r-1)$$

with equality if and only if $G' \cong C^0(n-2, r-1)$. Now by Lemmas 3 and 4, we have

$$ABC(G) = ABC(G') + \frac{3}{\sqrt{2}} + \sum_{i=1}^{k-2} \left(\sqrt{\frac{k+k_i-2}{kk_i}} - \sqrt{\frac{(k-2)+k_i-2}{(k-2)k_i}} \right)$$

$$\leq g(n-2,r-1) + \frac{3}{\sqrt{2}}$$

$$= g(n,r) + (n-2r-1) \left(\sqrt{\frac{n-4}{n-3}} - \sqrt{\frac{n-2}{n-1}} \right)$$

$$\leq g(n,r),$$

with equalities if and only if $G' \cong C^0(n-2, r-1)$, d = n-1, and 2r = n-1, i.e., $G \cong C^0(n, r)$.

By combining Case 1 and Case 2, the result follows.

Theorem 2 Let *G* be a cactus with $n \ge 3$ vertices. Then

$$ABC(G) \leq \begin{cases} \frac{3n-3}{4}\sqrt{2} & \text{if } n \text{ is odd,} \\ \frac{3n-6}{4}\sqrt{2} + \sqrt{\frac{n-2}{n-1}} & \text{if } n \text{ is even,} \end{cases}$$

with equality if and only if $G \cong C^0(n, \lfloor \frac{n-1}{2} \rfloor)$.

Proof. Let *r* be the number of cycles of *G*. Then $0 \le r \le \lfloor \frac{n-1}{2} \rfloor$. By Theorem 1, $ABC(G) \le g(n, r)$ with equality if and only if $G \cong C^0(n, r)$. Note that

$$\frac{\partial g(n,r)}{\partial r} = \frac{3}{\sqrt{2}} - 2\sqrt{\frac{n-2}{n-1}} > 0.$$

International Journal of Graph Theory and its Applications 1 (2015) 57-66

60

Then g(n,r) is strictly increasing for $0 \le r \le \lfloor \frac{n-1}{2} \rfloor$. Thus $ABC(G) \le g(n, \lfloor \frac{n-1}{2} \rfloor)$ with equality if and only if $G \cong C^0(n,r)$ with $r = \lfloor \frac{n-1}{2} \rfloor$. It is easily seen that

$$g\left(n, \left\lfloor\frac{n-1}{2}\right\rfloor\right) = \begin{cases} \frac{3n-3}{4}\sqrt{2} & \text{if } n \text{ is odd,} \\ \frac{3n-6}{4}\sqrt{2} + \sqrt{\frac{n-2}{n-1}} & \text{if } n \text{ is even.} \end{cases}$$

The result follows.

Note that $C^0(n, \frac{n-2}{2})$ has a perfect matching for even *n*. Thus we have that if *G* is a cactus with a perfect matching on $n \ge 4$ vertices, then $ABC(G) \le \frac{3n-6}{4}\sqrt{2} + \sqrt{\frac{n-2}{n-1}}$ with equality if and only if $G \cong C^0(n, \frac{n-2}{2})$.

3 The maximum ABC index of cacti with *k* pendents

For $0 \le k \le n-1$, let $\mathcal{C}(n,k)$ be the set of cacti with *n* vertices and *k* pendents, and $H^0(n,k)$ the cactus obtained by adding $\frac{n-k-2}{2}$ independent edges to the star S_{n-1} and then inserting a vertex of degree 2 in one of those independent edges if n-k is even, and by adding $\frac{n-k-1}{2}$ independent edges to the star S_n if n-k is odd. Let

$$\varphi(n,k) = \begin{cases} \frac{n-k-1}{2} \frac{3}{\sqrt{2}} + k\sqrt{\frac{n-2}{n-1}} & \text{if } n-k \text{ is odd,} \\ \frac{n-k-2}{2} \frac{3}{\sqrt{2}} + \frac{1}{\sqrt{2}} + k\sqrt{\frac{n-3}{n-2}} & \text{if } n-k \text{ is even.} \end{cases}$$

Lemma 5 Let $n \ge 3$ and $0 \le k \le n-2$, then

$$\varphi(n-1,k) + \frac{1}{\sqrt{2}} \le \varphi(n,k)$$

with equality if and only if n - k is even.

Proof. If n - k is even, then (n - 1) - k is odd and we have

$$\begin{split} \varphi(n-1,k) + \frac{1}{\sqrt{2}} &= \frac{(n-1)-k-1}{2}\frac{3}{\sqrt{2}} + k\sqrt{\frac{n-3}{n-2}} + \frac{1}{\sqrt{2}} \\ &= \frac{n-k-2}{2}\frac{3}{\sqrt{2}} + \frac{1}{\sqrt{2}} + k\sqrt{\frac{n-3}{n-2}} \\ &= \varphi(n,k). \end{split}$$

International Journal of Graph Theory and its Applications 1 (2015) 57-66

If n - k is odd, then (n - 1) - k is even, and for $n \ge 4$ we have

$$\begin{split} \varphi(n-1,k) + \frac{1}{\sqrt{2}} &= \frac{n-k-1}{2} \frac{3}{\sqrt{2}} + k \sqrt{\frac{n-4}{n-3}} - \frac{1}{\sqrt{2}} \\ &= \varphi(n,k) + k \left(\sqrt{\frac{n-4}{n-3}} - \sqrt{\frac{n-2}{n-1}} \right) - \frac{1}{\sqrt{2}} \\ &< \varphi(n,k). \end{split}$$

The case n = 3, k = 0 also holds. The result follows.

Lemma 6 Let *a* and *b* be two integers with $3 \le a \le b$ and a + b = n. Let $f(a,b) = (a-1)\sqrt{\frac{a-1}{a}} + \sqrt{\frac{a+b-2}{ab}} + (b-1)\sqrt{\frac{b-1}{b}}$. Then f(a,b) < f(2,n-2).

Proof. If a = b, then *n* is even. By direct calculation, it is easily seen that $f(\frac{n}{2}, \frac{n}{2}) < f(2, n-2)$.

Suppose that a < b. Then it suffices to show that f(a,b) < f(a-1,b+1). For $3 \le x < \frac{n}{2}$, let $l(x) = (x-1)\sqrt{\frac{x-1}{x}} + \sqrt{\frac{n-2}{x(n-x)}} + (n-x-1)\sqrt{\frac{n-x-1}{n-x}}$ and $h(x) = \frac{2x+1}{2x}\sqrt{\frac{x-1}{x}}$. Then $h'(x) = \frac{1}{2x^2}\left(-\sqrt{\frac{x-1}{x}} + \frac{1+2x}{2x}\sqrt{\frac{x}{x-1}}\right) > 0$, and thus $l'(x) = \frac{2x+1}{2x}\sqrt{\frac{x-1}{x}} - \frac{2(n-x)+1}{2(n-x)}\sqrt{\frac{n-x-1}{n-x}} - \frac{\sqrt{n-2}}{2(n-x)^{3/2}} < h(x) - h(n-x) < 0$, implying that l(x) < l(x-1). Thus we have f(a,b) < f(a-1,b+1).

Lemma 7 Let $G \in C(n,0)$. Then $ABC(G) \leq \varphi(n,0)$ with equality if and only if $G \cong H^0(n,0)$.

Proof. We will prove the result by induction on *n*. Since *G* has no pendent vertices, $n \ge 3$. If n = 3,4, then the theorem holds trivially as there is only one graph C_n in $\mathcal{C}(3,0)$ and $\mathcal{C}(4,0)$. If n = 5, then $G = C_5$ or $H^0(5,0)$, and the theorem holds because it is easy to check that $ABC(C_5) < \varphi(5,0) = ABC(H^0(5,0))$. If n = 6, then there are two graphs in $\mathcal{C}(n,k) \setminus H^0(6,0)$, one is the graph obtained from two vertex-disjoint triangles by adding an edge with ABC index $\frac{6}{\sqrt{2}} + \frac{2}{3}$, the other graph C_6 with ABC index $\frac{6}{\sqrt{2}}$, and both are smaller than $\varphi(6,0)$. Thus the result holds for n = 3, 4, 5, 6.

Suppose $n \ge 7$ and the result holds for cacti with no pendent vertices for which the number of vertices is at most n - 1. Let $G \in \mathcal{C}(n, 0)$. Then there is an edge $w_1w_2 \in E(G)$ such that $d_{w_1} = d_{w_2} = 2$. Let w_3 be the neighbor of w_1 different from w_2 .

Case 1. $w_2w_3 \notin E(G)$. Let $G' = G - w_1 + w_2w_3$. Obviously, $G' \in \mathcal{C}(n-1,0)$. By the

International Journal of Graph Theory and its Applications 1 (2015) 57-66

62

induction assumption and Lemma 5, we have

$$ABC(G) = ABC(G') + \frac{1}{\sqrt{2}} \le \varphi(n-1,0) + \frac{1}{\sqrt{2}} \le \varphi(n,0),$$

with equality if and only if $G' \cong H^0(n-1,0)$ and *n* is even, i.e., $G \cong H^0(n,0)$ for even *n*. **Case 2.** $w_2w_3 \in E(G)$. Denote $d_{w_3} = t$. Then $t \ge 3$.

Subcase 2.1. $t \ge 4$. Let $G' = G - w_1 - w_2$. Obviously, $G' \in \mathcal{C}(n-2,0)$. Denote $N(w_3) \setminus \{w_1, w_2\} = \{u_1, u_2, \dots, u_{t-2}\}$ and $d_{u_i} = t_i$ for $1 \le i \le t-2$. Note that n-2 and n have the same parity. By the induction assumption and Lemma 3, we have

$$ABC(G) = ABC(G') + \frac{3}{\sqrt{2}} + \sum_{i=1}^{t-2} \left(\sqrt{\frac{t+t_i-2}{tt_i}} - \sqrt{\frac{(t-2)+t_i-2}{(t-2)t_i}} \right)$$

$$\leq \varphi(n-2,0) + \frac{3}{\sqrt{2}}$$

$$\leq \begin{cases} \frac{n-2-1}{2} \frac{3}{\sqrt{2}} + \frac{3}{\sqrt{2}} = \varphi(n,0) & \text{if } n \text{ is odd,} \\ \frac{n-2-2}{2} \frac{3}{\sqrt{2}} + \frac{1}{\sqrt{2}} + \frac{3}{\sqrt{2}} = \varphi(n,0) & \text{if } n \text{ is even,} \end{cases}$$

with equality if and only if $G' \cong H^0(n-2,0)$ and $t_i = 2$ for $1 \le i \le t-2$, i.e., $G \cong H^0(n,0)$. **Subcase 2.2.** t = 3. Then *G* has a triangle $C = w_1 w_2 w_3$ with $d_{w_1} = d_{w_2} = 2$ and $d_{w_3} = 3$. In the following, we will prove that $ABC(G) < \varphi(n,0)$ for this subcase by contradiction. Let *G* be a counterexample such that *n* is as small as possible. Then $ABC(G) \ge \varphi(n,0)$. Let *z* be the neighbor of w_3 different from w_1 and w_2 . Suppose that $d_z \ge 3$. Let $N(z) = \{w_3, z_2, \dots, z_{d'}\}$, where $d' = d_z$. Let $G' = G - \{w_1, w_2, w_3\}$ and denote $d_{z_i} = d'_i$. Obviously, $G' \in \mathbb{C}(n-3,0)$. Combining the choice of *G* and the conclusion of the above subcase, we have $ABC(G') \le \varphi(n-3,0)$. Hence

$$\begin{split} ABC(G) &= ABC(G') + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} + \sum_{i=2}^{d'} \left(\sqrt{\frac{d'+d'_i-2}{d'd'_i}} - \sqrt{\frac{(d'-1)+d'_i-2}{(d'-1)d'_i}} \right) \\ &\leq ABC(G') + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ &\leq \varphi(n-3,0) + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}}. \end{split}$$

If *n* is odd, then n - 3 is even and

$$\begin{split} ABC(G) &\leq \varphi(n-3,0) + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ &= \frac{n-3-2}{2}\frac{3}{\sqrt{2}} + \frac{1}{\sqrt{2}} + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ &= \varphi(n,0) - \frac{2}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ &< \varphi(n,0), \end{split}$$

a contradiction. If *n* is even, then n - 3 is odd and

$$ABC(G) \le \varphi(n-3,0) + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ = \frac{n-3-1}{2}\frac{3}{\sqrt{2}} + \frac{3}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ = \varphi(n,0) - \frac{1}{\sqrt{2}} + \sqrt{\frac{d'+1}{3d'}} \\ < \varphi(n,0),$$

a contradiction again. Suppose that $d_z = 2$. Suppose that G contains a path $P = x_1x_2x_3x_4$ with $d_{x_2} = d_{x_3} = 2$. Let $G' = G - x_3 + x_2x_4$. Then $G' \in \mathcal{C}(n-1,0)$ and G' contains the triangle $w_1w_2w_3$ with $d_{w_1} = d_{w_2} = 2$ and $d_{w_3} = 3$. By the choice of G, we have $ABC(G') < \varphi(n-1,0)$. By Lemma 5, we have $ABC(G) = ABC(G') + \frac{1}{\sqrt{2}} < \varphi(n-1,0) + \frac{1}{\sqrt{2}} \le \varphi(n,0)$. Hence $ABC(G) < \varphi(n,0)$, a contradiction. Thus G does not contain a path $P = x_1x_2x_3x_4$ with $d_{x_2} = d_{x_3} = 2$. Thus both neighbors of z are of degree at least 3. Consider the graph $G' = G - \{w_1, w_2, w_3, z\}$ which is in $\mathcal{C}(n-4,0)$. As above, we may finally have a contradiction.

Theorem 3 Let $G \in \mathcal{C}(n,k)$, where $0 \le k \le n-1$. Then

$$ABC(G) \leq \begin{cases} \sqrt{(n-1)(n-2)} & \text{if } k = n-1, \\ \sqrt{2} + (n-3)\sqrt{\frac{n-3}{n-2}} & \text{if } k = n-2, \\ \varphi(n,k) & \text{if } k \le n-3, \end{cases}$$

with equality if and only if $G \cong S_n$ for k = n - 1, $G \cong S(2, n - 2)$ for k = n - 2, and $G \cong H^0(n,k)$ for $k \le n - 3$, where S(2, n - 2) is the graph obtained by joining a vertex to one pendent vertex of the star S_{n-1} .

Proof. The case k = n - 1 is obvious since in this case $G \cong S_n$.

Suppose k = n - 2. Then $n \ge 4$, and *G* is a tree with diameter three, which is obtainable from a path with two vertices by attaching *a* pendent vertices to one end vertex and *b* pendent vertices to the other end vertex, where a + b = n - 2 and $a \le b$. If a = 1, then $G \cong S(2, n - 2)$ and $ABC(G) = \sqrt{2} + (n - 3)\sqrt{\frac{n - 3}{n - 2}} = f(2, n - 2)$. If $a \ge 2$, then $ABC(G) = a\sqrt{\frac{a}{a+1}} + \sqrt{\frac{a+b}{(a+1)(b+1)}} + b\sqrt{\frac{b}{b+1}} = f(a+1,b+1) < f(2,n-2)$.

Now suppose $0 \le k \le n-3$. We prove the result by induction on k. If k = 0, then the result is true by Lemma 7.

Suppose that $k \ge 1$ and the result holds for cacti with at most k-1 pendent vertices. Let $G \in \mathbb{C}(n,k)$ and $uv \in E(G)$ with $d_u = 1$. Let $N(v) = \{u, v_1, v_2, \dots, v_{d-1}\}$, where $d = d_v$. Obviously, $d \ge 2$. Suppose without loss of generality that $d_{v_1} = d_{v_2} = \dots = d_{v_{p-1}} = 1$ and $d_{v_i} \ge 2$ for $p \le i \le d-1$, where $p \ge 1$. Denote $d_{v_i} = d_i$ for $p \le i \le d-1$. Then set $G' = G - u - v_1 - v_2 - \dots - v_{p-1}$ (if p = 1, then G' = G - u). Obviously, $G' \in \mathbb{C}(n - p, k - p)$. Note that (n - p) - (k - p) and n - k have the same parity. By the induction assumption and Lemma 3, we have

$$\begin{split} ABC(G) &= ABC(G') + p\sqrt{\frac{d-1}{d}} + \sum_{i=p}^{d-1} \left(\sqrt{\frac{d+d_i-2}{dd_i}} - \sqrt{\frac{(d-p)+d_i-2}{(d-p)d_i}}\right) \\ &\leq \varphi(n-p,k-p) + p\sqrt{\frac{d-1}{d}}, \end{split}$$

with equality if and only if $G' \cong H^0(n-p, k-p)$. If n-k is odd, then

$$\begin{aligned} ABC(G) &\leq \varphi(n-p,k-p) + p\sqrt{\frac{d-1}{d}} \\ &= \frac{n-k-1}{2}\frac{3}{\sqrt{2}} + (k-p)\sqrt{\frac{n-p-2}{n-p-1}} + p\sqrt{\frac{d-1}{d}} \\ &= \varphi(n,k) + (k-p)\left(\sqrt{\frac{n-p-2}{n-p-1}} - \sqrt{\frac{n-2}{n-1}}\right) + p\left(\sqrt{\frac{d-1}{d}} - \sqrt{\frac{n-2}{n-1}}\right) \\ &\leq \varphi(n,k), \end{aligned}$$

with equalities if and only if $G' \cong H^0(n-p, k-p)$, d = n-1, and k = p, i.e., $G \cong H^0(n, k)$. If n-k is even, then

$$\begin{split} ABC(G) &\leq \varphi(n-p,k-p) + p\sqrt{\frac{d-1}{d}} \\ &= \frac{n-k-2}{2}\frac{3}{\sqrt{2}} + \frac{1}{\sqrt{2}} + (k-p)\sqrt{\frac{n-p-3}{n-p-2}} + p\sqrt{\frac{d-1}{d}} \\ &= \varphi(n,k) + (k-p)\left(\sqrt{\frac{n-p-3}{n-p-2}} - \sqrt{\frac{n-3}{n-2}}\right) + p\left(\sqrt{\frac{d-1}{d}} - \sqrt{\frac{n-3}{n-2}}\right) \\ &\leq \varphi(n,k), \end{split}$$

with equalities if and only if $G' \cong H^0(n-p,k-p)$, d = n-2, and k = p, i.e., $G \cong H^0(n,k)$.

References

- K. C. Das, Atom-bond connectivity index of graphs, *Discrete Appl. Math.* 158 (2010) 1181–1188.
- [2] E. Estrada, Atom-bond connectivity and the energetic of branched alkanes, *Chem. Phys. Lett.* 463 (2008) 422–425.
- [3] E. Estrada, L. Torres, L. Rodríguez, I. Gutman, An atom-bond connectivity index: Modelling the enthalpy of formation of alkanes, *Indian J. Chem.* 37A (1998) 849– 855.
- [4] B. Furtula, A. Graovac, D. Vukičević, Atom-bond connectivity index of trees, *Discrete Appl. Math.* 157 (2009) 2828–2835.
- [5] M. Lu, L. Zhang, F. Tian, On the Randić index of cacti, *MATCH Commun. Math. Comput. Chem.* 56 (2006) 551–556.
- [6] R. Xing, B. Zhou, F. Dong, On atom-bond connectivity index of connected graphs, *Discrete Appl. Math.* 159 (2011) 1617–1630.
- [7] R. Xing, B. Zhou, Z. Du, Further results on atom-bond connectivity index of trees, *Discrete Appl. Math.* 158 (2010) 1536–1545.